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— In order to understand the non-negative tweets from the given corpus I employed
multiple methods to ensure the accuracy of my data, considering context.

— With that said, I created an evaluation function which I would later use to make a
comparison between my true positive tweets, and false positive tweets.

a. In addition to this, I used the Naive Bayes classifier to train my data set and
remove sparse terms, only wanting 0.5% of important words.

dtm <- removeSparseTerms(dtm. full,
X <- as.matrix(Cdtm)
Y <- as.factor(y)

nb.model <- naiveBayes(X[train,], Y[train])
pred <- predict(nb.model, X[-train,])
table(pred, Y[-train])

Evaluation(pred, Y[-train], 1)
Evaluation(pred, Y[-train], -1)

— Loaded actual airline tweet dataset to be tested, removing 99.5% of the sparse
words, and finally converting it to a matrix in order to predict non-negative tweets.

nb_pred <- predict(nb.model, X_test)

airline_tweets$nb_pred=nb_pred

— Sorting the data based on non-negatives, extrapolating 1975 tweets, from the initial
4555-
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* tweet v nb_pred v

@hbarnes @ArianFoster @united They're just known f... 1
@united flight crew on flt1655 gets kudos for keepin... 1

Oh snap! Business class upgrade across the Atlantic! ...

After flying @SouthwestAir numerous times and waiti...

— Then used sentiment analysis to distinguish between positive and non-positive
responses and getting sentiment scores i.e. emotion.

— Set sentiment valuation using sent.value <- get_sentiment(word.df)

— Merged non-negative tweets and airline tweets by tweets, giving me 768 tweets
combined

— Built final evaluation, indicating true positives setting them equal to 2’ and adding
the variable to the data frame

— Found 607 true positive tweets
— Built evaluation, indicating false positives setting them equal to ‘0’
— Found 101 false positives

— Precision = (607/768)

PRECISION = 79%
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